June 2009 Attainment Demonstration
camx.jun(2.D090TB.CMAQ.kvpatch.mech4noPM_correct

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN = "St_LouisD090TB_correct"

set EXEC = "CAMx.StLouis60.pg_linuxomp"

set INPUT = "/raid2a/ENVIRON/camx_inputs"

set MET = "/raid2a/MM5CAMx/Junel0-24.0106"

set EMIS = "/raid2a/based4_emiss_jun_camx_09_OTB_ptne-ar_correction/merged"
set PTSRCE = "/raid2a/based4_emiss_jun_camx_09_OTB_ptne—ar_correction/merged"
set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT =
"/model/CAMx/outputs/v4.30/3jun02d/20090TB_correct/mech4noPM/CMAQ.kvpatch"

mkdir -p ./SRUN
cp S$EXEC ./SRUN
cd ./$SRUN

#mkdir -p SOUTPUT

#set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)

set TODAY = (0610 0611 0612 0613 0614 0615 0616 0617 0618 0619 0620 0621 0622
0623 0624)

set YYYYMMDD = (20020610 20020611 20020612 20020613 20020614 20020615 20020616
20020617 20020618 20020619 20020620 20020621 20020622 20020623 20020624)

#set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

#set JULIAN = (210 211 212 213 214 215 216 217)

set JULIAN = (161 162 163 164 165 166 167 168 169 170 171 172 173 174 175)

foreach 1 (1 2 3 45 6 7 8 9 10 11 12 13 14 15)
#foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = S$TODAY[$i] - ($SMO * 100)
if ($i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic.stl1l36k.2002161.CAMx"

@ iml = $i

set START = "2002,06,10,0000"
else

set RESTART = "true"

set IC = " "

@ iml = ($i - 1)

set START = "2002, SMO, SDAY, 0000"
endif

cat << ieof > CAMx.in
&CAMx_Control



Run_Message = 'CAMx v4.30 June 2002 090TBD Area & Point Corrections
CMAQ.kvp Mech4.noPM.PiG',

! ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_ Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY, MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes

Met_Input_Frequency = 60., ! minutes

Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters —-—-

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0, south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0, south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0,south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0, south<0)
LAMBERT_True_Latitude2 = 45., ! deg (west<0,south<0)

!-—— Parameters for the master (first) grid —--—-

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_ Cell_XSize = 36., ! km or deg

Master_Cell_YSize = 36., ! km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows =112,

Number_of_Layers (1) = 16,

!-——— Parameters for the second grid —---

Nest_Meshing_Factor (2) = 3,
59,

! Cell size relative to master grid

I
125, ! Relative to master grid

I

I

Relative to master grid

)
Nest_End_I_Index(2) =
Nest_Beg_J_Index (2) = 22, Relative to master grid
Nest_End_J_Index (2) = 87, Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid --—-

Nest_Meshing_Factor (3) = 9, ! Cell size relative to master grid
Nest_Beg_I_Index(3) =179, ! Relative to master grid
Nest_End_I_Index(3) = 1060, ! Relative to master grid
Nest_Beg_J_Index (3) = 43, ! Relative to master grid
Nest_End_J_Index (3) = 66, ! Relative to master grid
Number_of_Layers (3) =16,

!-—— Model options —---

Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep

Advection_Solver = 'PPM', ! (PPM, BOTT)



Chemistry_Solver
PiG_Submodel
Probing_Tool

'cMC', ! (CMC, IEH, LSODE)
'GREASD', ! (None, GREASD, IRON)
= 'None' !

(None, OSAT, PSAT, GOAT, APCA, DDM, PA RTRAC)

Chemistry
Dry_Deposition
Wet_Deposition
Staggered_Winds
Gridded_Emissions
Point_FEmissions
Ignore_Emission_Dates

Root_Output_Name
Average_Output_3D
HDF_Format_Output
HDF_File_Root

= .true.,
= .true.,
= .true.,
.true.,
.true.,
.true.,
= .true.,

—-—— Output specifications —---

= '"SOUTPUT/camx.02${TODAY[S$i]}.SRUN',
.false.,

.false.,

= 'SOUTPUT/camx.02S${TODAY[S$i]}.SRUN.hdf"',

Number_of_Output_Species = 16,

Output_Species_Names (1)
Output_Species_Names (2
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (

!——— Input files ———

Chemistry_Parameters
Photolyis_Rates =
24jun/rates.camx.020617.
Initial_Conditions =
Boundary_Conditions
Top_Concentrations =
Albedo_Haze_Ozone =
24jun/ahoz.camx.10jun-24
Point_Sources =
'"SPTSRCE/ptsrce.pig.2002
Master_Grid_Restart =
Nested_Grid_Restart
PiG_Restart

Landuse_Grid (1) = 'SINP
Landuse_Grid(2) = 'SINP
Landuse_Grid(3) = 'SINP
ZP_Grid (1) = 'SMET
ZP_Grid(2) = 'SMET
ZP_Grid(3) = 'SMET
Wind_Grid(1l) = 'SMET
Wind_Grid(2) = 'SMET

= 'NO |,
= 'NO2 ',
= '03 v,
= 'so2 ',
= 'PAR ',
= 'TOL ',
= 'ETH ',
= 'OLE ',
= 'PAN ',
) = 'ISOP',
) = 'XYL ',
) = 'FORM',
) = 'ALD2',
) = 'HNO3',
) = 'NXOY',
) = 'co ',

' /model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
'S$INPUT/rates/no_snow/10jun—

361204 .basel’,

's$I1C’,
'"SINPUT/icbc/bc.st136k.2002${JULIAN[Si]}.CAMX",
'"SINPUT/icbc/topc.st136k.2002161.CAMx",
'S$INPUT/ahoz.orig/no_snow/10jun—

jun.361204 .basel .mdnr’',

S{TODAY[$i]}.based4T_09_OTB.NOxSIP.bin',
'"SOUTPUT/camx.02${TODAY [$iml]}.SRUN.inst.2"',
'SOUTPUT/camx.02${TODAY [$iml]}.SRUN.finst.2",
'$OUTPUT/camx.02$ {TODAY [$iml] }.$RUN.pig",

UT/landuse/lu.stlouis.36km.bin’',
UT/landuse/lu.stlouis.l12km.bin’',
UT/landuse/lu.stlouis.04km.bin"',
/pres.camx.02${TODAY[$1i]}.Basel.doml"',
/pres.camx.02${TODAY[S$i]}.Basel.dom2"',
/pres.camx.02${TODAY[S$i]}.Basel.dom3"',
/wind.camx.02${TODAY[$1i]}.Basel.doml"',
/wind.camx.02${TODAY[$1i]}.Basel.dom2"',



Wind_Grid (3) = 'SMET/wind.camx.02${TODAY[S$i]}.Basel.dom3"',

Temp_Grid (1) = 'SMET/temp.camx.02${TODAY[$i]}.Basel.doml"',

Temp_Grid(2) = '"SMET/temp.camx.02${TODAY[$1]}.Basel.dom2"',

Temp_Grid(3) = 'SMET/temp.camx.02${TODAY[S$i]}.Basel.dom3"',

Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[S$i]}.Basel.doml"',
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[S$i]}.Basel.dom2"',
Vapor_Grid(3) = '"SMET/wvap.camx.02${TODAY[$1]}.Basel.dom3"',

Cloud_Grid (1) = '"SMET/clra.camx.02${TODAY[S$1i]}.Basel.doml.v4.30",
Cloud_Grid(2) = '"SMET/clra.camx.02${TODAY[S$i]}.Basel.dom2.v4.30"',
Cloud_Grid(3) = 'SMET/clra.camx.02${TODAY[S$1i]}.Basel.dom3.v4.30"',
Kv_Grid (1) = 'SMET/vdif.camx.02${TODAY[S$i]}.Basel.doml.CMAQ.kvpatch',
Kv_Grid (2) = '"SMET/vdif.camx.02${TODAY[$i]}.Basel.dom2.CMAQ.kvpatch',
Kv_Grid (3) = '"SMET/vdif.camx.02${TODAY[$i]}.Basel.dom3.CMAQ.kvpatch',

Emiss_Grid (1) =
'SEMIS/emiss_low.basedT_09_OTB.stl1l36km.C.2002${TODAY[S$1i]}.CAMx',
Emiss_Grid(2) =
'SEMIS/emiss_low.basedT_09_OTB.stll2km_photo.C.2002${TODAY[$i]}.CAMx"',
Emiss_Grid (3) =
'SEMIS/emiss_low.basedT_09_OTB.stl4km.C.2002${TODAY[S$1i]}.CAMx',

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root 'CAMx4 .test.020614",

SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,
SA_Nested_Sfc_Output = .true.,
SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_Timing_Releases = 0,
PSAT_Treat_SULFATE_Class = .false.,
PSAT_Treat_NITRATE_Class = .true.,
PSAT_Treat_SOA_Class = .false.,
PSAT_Treat_ PRIMARY_Class = .false.,
PSAT_Treat_ MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,

SA_Receptor_Definitions 'osat.rcp.def.dat’',

SA_Source_Area_Map (1) = 'osat.src.area.map.gl',
SA_Source_Area_Map (2) 'osat.src.area.map.g2',
SA_Source_Area_Map (3) 'osat.src.area.map.g3"',

SA_Master_Restart = 'CAMx4.test.020614.0sat.inst.2"',
SA_Nested_Restart 'CAMx4 .test.020614.0sat.finst.2"',

SA_Points_Group (1) = 'ptsrc.utils.020614.bin’',
SA_Points_Group (3) 'ptsrc.other.020614.bin"',

SA_Emiss_Group_Grid(l,1) = 'emiss.utils_low.020614.36km.bin"',
SA_Emiss_Group_Grid(l,2) = 'emiss.utils_low.020614.12km.bin"',
SA_Emiss_Group_Grid(1l,3) = 'emiss.utils_low.020614.04km.bin',
SA_Emiss_Group_Grid(2,1) = 'emiss.mv.020614.36km.bin',
SA_Emiss_Group_Grid(2,2) = 'emiss.mv.020614.12km.bin"',
SA_Emiss_Group_Grid(2,3) = 'emiss.mv.020614.04km.bin"',



SA_Emiss_Group_Grid(3,1) = 'emiss.other.020614.36km.bin"',
SA_Emiss_Group_Grid (3, 2) 'emiss.other.020614.12km.bin",
SA_Emiss_Group_Grid(3,3) = 'emiss.other.020614.04km.bin"',

&DDM_Control

DDM_File_Root 'CAMx4 .test.020614",
DDM_Master_Sfc_Output = .true.,

DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,
IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,
BC_species_Groups (1) = '03"',
Number_of_EM_Species_Groups = 2,
Emis_Species_Groups (1) = '03"',
Emis_Species_Groups (2) = 'NOX',

DDM_Receptor_Definitions 'ddm.rcp.def.dat’',

DDM_Source_Area_Map (1) = 'ddm.src.area.map.gl',
DDM_Source_Area_Map (2) 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) 'ddm.src.area.map.g3"',

DDM_Initial_Conditions = 'ic.generic.bin',
DDM_Boundary_Conditions 'bc.generic.bin’,
DDM_Top_Concentrations 'tc.generic',

DDM_Master_Restart = 'CAMx4.test.020614.ddm.inst.2"',
DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',

DDM_Points_Group (1) 'ptsrc.utils.020614.bin"',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin’',

DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid (2,

(1,1 'emiss.utils_low.020614.36km.bin",

(1,2

(1,3

(2,1
DDM_Emiss_Group_Grid(2, 2

(2,3

(3,1

(3,2

(3,3

'emiss.utils_low.020614.36km.bin"',
= 'emiss.utils_low.020614.36km.bin’',
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin',

= 'emiss.other.020614.36km.bin"',
'emiss.other.020614.36km.bin",
'emiss.other.020614.36km.bin'",

14

4

4

DDM_Emiss_Group_Grid (2,
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid

DDM_Emiss_Group_Grid

4

4

—_— — — — — — — ~— —

14

&RT_Control

RT_File_Root = 'CAMx4.test.020614",
RT_Initial_ Conditions = '1T,
RT_Boundary_Conditions = ' "',
RT_Top_Concentrations I

RT_Master_Restart 'CAMx4 .test.020614.rtrac.inst.2"',
RT_Nested_Restart = 'CAMx4.test.020614.rtrac.finst.2',



Sampling_Grid = .true.,
Number_of_Sampling_ Grids = 1,
SG_Beg_I_Index (1) =17, ! Relative to master grid

SG_End_I_Index (1) = 18,

SG_Beg_J_Index (1) = 21,

SG_End_J_Index (1) = 22,

SG_Mesh_Factor (1) = 36., ! Cell size relative to master
grid

RT_Chemistry_Parameters = 'CAMx4.chemparam.rtrac_test',
RT_Receptor_Definitions = 'receptor.rtrac.test',

RT_Point_Sources 'pt.rtrac.test’',

RT_Emiss_Grid (1) 'emiss.rtrac.36km',
RT_Emiss_Grid(2) = 'emiss.rtrac.1l2km',
RT_Emiss_Grid(3) 'emiss.rtrac.04km',

&PA_Control

PA_File_Root = 'CAMx4.test.020614",

Number_of_ PA_Domains = 2,

Within_CAMx_Grid(1l) =1, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index (1) = 3,

PA_End_I_Index (1) =12,

PA_Beg_J_Index (1) = 9,

PA_End_J_Index (1) =13,

PA_Beg_K_TIndex (1) =1,

PA_End_K_Index (1) = 5,

Within_CAMx_Grid(2) = 3, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index(2) = 107,

PA_End_I_Index (2) = 110,

PA_Beg_J_Index(2) =78,

PA_End_J_Index (2) = 82,

PA_Beg_K_Index(2) =1,

PA_End_K_Index (2) =17,

&

ieof

cp CAMx.in CAMx.1in.02${TODAY[S$1]}

uname -a > & camx.02${TODAY[S$i]}.SRUN.stdout

#/bin/time SEXEC | & tee camx_v4.11s.02S${TODAY[S$i]}.SRUN.stdout
./CAMx.StLouis60.pg_linuxomp | & tee camx_v4.30.02${TODAY[S$i]}.SRUN.stdout
rm —f CAMx.in

#date >>§& CAMx_v4.11s.SRUN.S{TODAY[S$i]}.stdout

#

end



July 2002 Final Basecase (Model Performance)
camx.jul02.baseDm2.CMA Q.kvpatch.mech4noPM

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN = "St_LouisBaseD"

set EXEC = "CAMx.StLouis60.pg_linuxomp"

set INPUT = "/raid2a/ENVIRON"

set MET = "/raidlb/MM5CAMx/Jul2-16b2"

set EMIS = "/raid2a/based4_emiss_jul_camx/merged"

set PTSRCE = "/raid2a/based4_emiss_jul_camx/merged"

set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT = "/model/CAMx/outputs/v4.30/jul02dm2/mech4dnoPM/CMAQ.kvpatch"

mkdir -p ./SRUN
cp S$EXEC ./SRUN
cd ./SRUN

#mkdir -p $OUTPUT

#set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)

set TODAY = (0702 0703 0704 0705 0706 0707 0708 0709 0710 0711 0712 0713 0714
0715 0716)

set YYYYMMDD =(20020702 20020703 20020704 20020705 20020706 20020707 20020708
20020709 20020710 20020711 20020712 20020713 20020714 20020715 20020716)

#set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

#set JULIAN = (210 211 212 213 214 215 216 217)

set JULIAN = (183 184 185 186 187 188 189 190 191 192 193 194 195 196 197)

foreach 1 (1 2 3 45 6 7 8 9 10 11 12 13 14 15)
#foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = STODAY[S$1i] — (SMO * 100)
if ($i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic_bc_tc_for_camx/episode_4/ic.st136k.2002183.CAMx"

@ iml = $i

set START = "2002,07,02,0000"
else

set RESTART = "true"

set IC = " "

@ iml = ($i - 1)

set START = "2002, $MO, SDAY, 0000"
endif

cat << ieof > CAMx.in
&CAMx_Control



Run_Message = 'CAMx v4.30 July 2002 BaseD CMAQ.kvp Mech4.noPM.PiG',

| ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY,MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes
Met_Input_Frequency = 60., ! minutes
Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters —--—-—

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0,south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0,south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0, south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0, south<0)
LAMBERT_True_Latitude?2 = 45., ! deg (west<0,south<0)

!-——— Parameters for the master (first) grid ---

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_Cell_XSize = 36., !' km or deg

Master_Cell_YSize = 36., ! km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows =112,

Number_of_Layers(1l) 16,
!-—— Parameters for the second grid ---

Nest_Meshing_Factor (2) = 3,
Nest_Beg_I_Index (2 59,

! Cell size relative to master grid
! Relative to master grid

= 125, ! Relative to master grid
I
I

)
Nest_End_I_Index (2)
Nest_Beg_J_Index(2) = 22, Relative to master grid
Nest_End_J_Index (2) = 87, Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid --—-

Nest_Meshing Factor(3) = 9, ! Cell size relative to master grid
Nest_Beg_I_Index(3) =179, ! Relative to master grid
Nest_End_I_Index(3) = 106, ! Relative to master grid
Nest_Beg_J_Index (3) = 43, ! Relative to master grid
Nest_End_J_Index (3) = 66, ! Relative to master grid
Number_of_Layers (3) = 16,

!-—— Model options —--—-

Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep
Advection_Solver = 'PPM', ! (PPM, BOTT)

Chemistry_Solver = 'CMC', ! (CMC, IEH, LSODE)

PiG_Submodel = 'GREASD', ! (None, GREASD, IRON)



Probing_ Tool

= 'None', !

(None, OSAT, PSAT, GOAT, APCA, DDM,PA,RTRAC)

Chemistry
Dry_Deposition
Wet_Deposition
Staggered_Winds
Gridded_Emissions
Point_FEmissions
Ignore_Emission_Dates

!——— Output specificatio

Root_Output_Name
Average_Output_3D
HDF_Format_Output
HDF_File_Root
Number_of_Output_Specie
Output_Species_Names (1)
Output_Species_Names (2
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (

!——— Input files —--—-

Chemistry_Parameters =
Photolyis_Rates =
16jul/rates.camx.020709.
Initial_ Conditions =
Boundary_Conditions =
'"SINPUT/icbc/ic_bc_tc_fo
Top_Concentrations =
'SINPUT/icbc/ic_bec_tc_fo
Albedo_Haze_Ozone =
16jul/ahoz.camx.02jul-16
Point_Sources =

Master_ Grid_Restart
Nested_Grid_Restart =
PiG_Restart =

Landuse_Grid (1) = 'SINP
Landuse_Grid(2) = 'SINP
Landuse_Grid(3) = 'SINP
ZP_Grid (1) = 'SMET
ZP_Grid(2) = 'SMET
ZP_Grid(3) = 'SMET
Wind_Grid (1) = 'SMET
Wind_Grid(2) = 'SMET
Wind_Grid (3) = 'SMET

.true.,
= .true.,
.true.,
.true.,
= .true.,
.true.,
.true.,

ns ———

'SOUTPUT/camx.02${TODAY[S$Si]}.SRUN',

= .false.,
= .false.,
= 'SOUTPUT/camx.02${TODAY[$1i]}.$RUN.hdf",
s = 16,
= 'NO v,
= 'NO2 ',
= '03 |,
= 'so2 ',
= 'PAR ',
= 'TOL ',
= 'ETH ',
= 'OLE ',
= 'PAN ',
) = 'ISOop',
) = 'XYL ',
) = '"FORM',
) = 'ALD2',
) = 'HNO3',
) = '"NXOY',
) 'co ',

'/model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
'$INPUT/camx_inputs/rates/no_snow/02jul-
361204 .basel’,

'sIC',

r_camx/episode_4/bc.st136k.2002${JULIAN[S$1i]}.CAMX",

r_camx/episode_4/topc.st136k.2002183.CAMx",
'SINPUT/camx_inputs/ahoz.orig/no_snow/02jul-
jul.361204 .basel .mdnr’,
'"SPTSRCE/ptsrce.pig.2002${TODAY [$1]}.based.bin"',
'SOUTPUT/camx.02${TODAY [$iml] }.$RUN.inst.2"',
'SOUTPUT/camx.02${TODAY [$iml]}.SRUN.finst.2",
'$SOUTPUT/camx.02${TODAY [$iml]}.S$RUN.pig',

UT/camx_inputs/landuse/lu.stlouis.36km.bin’,
UT/camx_inputs/landuse/lu.stlouis.l2km.bin’,
UT/camx_inputs/landuse/lu.stlouis.04km.bin’',

/pres.camx.02${TODAY[S$1i]}.natl.36.base2"',
/pres.camx.02${TODAY[$1]}.CRAP.12.base2"',
/pres.camx.02${TODAY[S$i]}.SLOP.4.base2"',
/wind.camx.02${TODAY[S$Si]}.natl.36.base2’,
/wind.camx.02${TODAY[$i]}.CRAP.12.base2",
/wind.camx.02${TODAY[S$1i]}.SLOP.4.base2’,



Temp_Grid (1) = 'SMET/temp.camx.02${TODAY[S$i]}.natl.36.base2",
Temp_Grid(2) = 'SMET/temp.camx.02${TODAY[$1]}.CRAP.12.base2"’,
Temp_Grid(3) = '"SMET/temp.camx.02${TODAY[$1]}.SLOP.4.base2"’,
Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[S$i]}.natl.36.base2",
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[$i]}.CRAP.12.base2",
Vapor_Grid(3) = 'SMET/wvap.camx.02${TODAY[S$i]}.SLOP.4.base2"',
Cloud_Grid (1) = 'SMET/clra.camx.02${TODAY[S$i]}.natl.36.base2.v4.30",
Cloud_Grid(2) = 'SMET/clra.camx.02${TODAY[$i]}.CRAP.12.base2.v4.30",
Cloud_Grid(3) = '"SMET/clra.camx.02${TODAY[$i]}.SLOP.4.base2.v4.30",
Kv_Grid (1) =

'SMET/vdif.camx.02${TODAY[$i]}.natl.36.base2.CMAQ.kvpatch',

Kv_Grid(2) =
"SMET/vdif.camx.02${TODAY[$1]}.CRAP.12.base2.CMAQ.kvpatch',

Kv_Grid (3) = 'SMET/vdif.camx.02${TODAY[S$i]}.SLOP.4.base2.CMAQ.kvpatch',
Emiss_Grid (1) = 'SEMIS/emiss_low.based.st136km.2002${TODAY[$1]}.CAMx",
Emiss_Grid(2) =
'"SEMIS/emiss_low.based.stl12km_photo.2002${TODAY[$1i]}.CAMx"',

Emiss_Grid (3) = 'SEMIS/emiss_low.base4.st14km.2002${TODAY[S$i]}.CAMx',

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root = 'CAMx4.test.020614",
SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,

SA_Nested_Sfc_Output = .true.,

SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_Timing_Releases = 0,
PSAT_Treat_ SULFATE_Class = .false.,
PSAT_Treat_ NITRATE_Class = .true.,
PSAT_Treat_SOA_Class = .false.,
PSAT_Treat_ PRIMARY_Class = .false.,
PSAT_Treat_ MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,
SA_Receptor_Definitions = 'osat.rcp.def.dat',

SA_Source_Area_Map (1) 'osat.src.area.map.gl',
SA_Source_Area_Map (2) = 'osat.src.area.map.g2',
SA_Source_Area_Map (3) 'osat.src.area.map.g3"',

SA_Master_Restart = 'CAMx4.test.020614.0sat.inst.2"',
SA_Nested_Restart = 'CAMx4.test.020614.0sat.finst.2"',

SA_Points_Group (1) 'ptsrc.utils.020614.bin"',
SA_Points_Group (3) = 'ptsrc.other.020614.bin’',

'emiss.utils_low.020614.36km.bin",
'emiss.utils_low.020614.12km.bin"',
= 'emiss.utils_low.020614.04km.bin’',
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.12km.bin",
'emiss.mv.020614.04km.bin',

= 'emiss.other.020614.36km.bin"',

SA_Emiss_Group_Grid(1l,1)
SA_Emiss_Group_Grid(1l,2)
SA_Emiss_Group_Grid(1l, 3)
SA_Emiss_Group_Grid(2,1)
(2,2)
(2,3)
(3,1)

4

4

SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid

14

14

14



SA_Emiss_Group_Grid(3,2) = 'emiss.other.020614.12km.bin"',
SA_Emiss_Group_Grid (3, 3) 'emiss.other.020614.04km.bin",

&DDM_Control

DDM_File_Root = 'CAMx4.test.020614",
DDM_Master_Sfc_Output = .true.,
DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,
IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,
BC_species_Groups (1) = '03"',
Number_of_EM_Species_Groups = 2,
Emis_Species_Groups (1) = '03"',
Emis_Species_Groups (2) = 'NOX',

DDM_Receptor_Definitions 'ddm.rcp.def.dat’',

DDM_Source_Area_Map (1) 'ddm.src.area.map.gl’',
DDM_Source_Area_Map (2) = 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) 'ddm.src.area.map.g3"',

DDM_Initial_Conditions 'ic.generic.bin’',
DDM_Boundary_Conditions = 'bc.generic.bin',
DDM_Top_Concentrations 'tc.generic',
DDM_Master_Restart 'CAMx4 .test.020614.ddm.inst.2"',

DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',
DDM_Points_Group (1) = 'ptsrc.utils.020614.bin"',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin"',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.36km.bin",
'emiss.utils_low.020614.36km.bin",
= 'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin",
'emiss.other.020614.36km.bin",

= 'emiss.other.020614.36km.bin"',

= 'emiss.other.020614.36km.bin"',

DDM_Emiss_Group_Grid(1l,1
DDM_Emiss_Group_Grid(1l, 2
DDM_Emiss_Group_Grid(1l,3
DDM_Emiss_Group_Grid (2,1
DDM_Emiss_Group_Grid(2, 2
(2,3
(3,1
(3,2
(3,3

14

14

4

DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid

14

4

4

—_— — — — — — — — —

4

&RT_Control

RT_File_Root = 'CAMx4.test.020614",
RT_Initial_ Conditions = '1T,
RT_Boundary_Conditions = ' "',

RT_Top_Concentrations ’
RT_Master_Restart 'CAMx4 .test.020614.rtrac.inst.2"',
RT_Nested_Restart = 'CAMx4.test.020614.rtrac.finst.2',



Sampling_Grid = .true.,
Number_of_Sampling_ Grids = 1,
SG_Beg_I_Index (1) =17, ! Relative to master grid

SG_End_I_Index (1) = 18,
SG_Beg_J_Index (1) = 21,
SG_End_J_Index (1) = 22,
SG_Mesh_Factor (1) = 36., ! Cell size relative to master

grid

RT_Chemistry_Parameters 'CAMx4 .chemparam.rtrac_test',
RT_Receptor_Definitions = 'receptor.rtrac.test',
RT_Point_Sources 'pt.rtrac.test’',
RT_Emiss_Grid(1l) 'emiss.rtrac.36km',
RT_Emiss_Grid(2) 'emiss.rtrac.12km',
RT_Emiss_Grid(3) = 'emiss.rtrac.04km',

&PA_Control

PA_File_Root = 'CAMx4.test.020614",

Number_of_ PA_Domains = 2,

Within_CAMx_Grid(1l) =1, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index (1) = 3,

PA_End_I_Index (1) =12,

PA_Beg_J_Index (1) = 9,

PA_End_J_Index (1) = 13,

PA_Beg_K_Index (1) =1,

PA_End_K_Index (1) = 5,

Within_CAMx_Grid(2) = 3, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index(2) = 107,

PA_End_I_Index(2) = 110,

PA_Beg_J_Index(2) =78,

PA_End_J_Index (2) = 82,

PA_Beg_K_Index(2) =1,

PA_End_K_Index (2) =17,

&

ieof

cp CAMx.in CAMx.in.02${TODAY[S$i]}

uname -a > & camx.02${TODAY[S$i]}.SRUN.stdout

#/bin/time SEXEC | & tee camx_v4.11s.02${TODAY[S$i]}.SRUN.stdout
./CAMx.StLouis60.pg_linuxomp | & tee camx_v4.30.02${TODAY[S$i]}.SRUN.stdout
rm —f CAMx.in

#date >>& CAMx_v4.11s.SRUN.S{TODAY[S$1]}.stdout

#

end



July 2002 Final Basecase (Typical)
camx.jul02.baseDm2.CMA Q.kvpatch.mech4noPM.typical

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN = "St_LouisBaseD"

set EXEC = "CAMx.StLouis60.pg_linuxomp"

set INPUT = "/raid2a/ENVIRON"

set MET = "/raidlb/MM5CAMx/Jul2-16b2"

set EMIS = "/raid2a/based4_typ_emiss_jul_camx/merged"
set PTSRCE = "/raid2a/based4_typ_emiss_jul_camx/merged"
set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT =
"/model/CAMx/outputs/v4.30/jul02dm2/mech4noPM/CMAQ.kvpatch/typical"

mkdir -p ./S$SRUN
cp SEXEC ./SRUN
cd ./SRUN

#mkdir -p $OUTPUT

#set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)
set TODAY = (0702 0703 0704 0705 0706 0707 0708 0709 0710 0711 0712 0713 0714
0715 0716)

set YYYYMMDD =(20020702 20020703 20020704 20020705 20020706 20020707 20020708
20020709 20020710 20020711 20020712 20020713 20020714 20020715 20020716)

#set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

#set JULIAN = (210 211 212 213 214 215 216 217)

set JULIAN = (183 184 185 186 187 188 189 190 191 192 193 194 195 196 197)

foreach 1 (1 2 345 6 7 8 9 10 11 12 13 14 15)
#foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = STODAY[S$1i] — ($SMO * 100)
if ($1i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic_bc_tc_for_camx/episode_4/ic.st136k.2002183.CAMx"

Q@ iml = $1i

set START = "2002,07,02,0000"
else

set RESTART = "true"

set IC = " "

@ iml = (S$i - 1)

set START = "2002, $MO, SDAY, 0000"
endif

cat << ieof > CAMx.in
&CAMx_Control



Run_Message = 'CAMx v4.30 July 2002 BaseD Typical CMAQ.kvp
Mech4 .noPM.PiG"',

! ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_ Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY, MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes

Met_Input_Frequency = 60., ! minutes

Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters —-—-

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0, south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0, south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0,south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0,south<0)
LAMBERT_True_Latitude2 = 45., ! deg (west<0,south<0)

!-—— Parameters for the master (first) grid —--—-

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_ Cell_XSize = 36., ! km or deg

Master_Cell_YSize = 36., ! km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows = 112,

Number_of_Layers (1) = 16,

!-—— Parameters for the second grid —---

Nest_Meshing_Factor (2) = 3,
59,

! Cell size relative to master grid

I
125, ! Relative to master grid

I

I

Relative to master grid

)
Nest_End_I_Index(2) =
Nest_Beg_J_Index (2) = 22, Relative to master grid
Nest_End_J_Index (2) = 87, Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid ---

Nest_Meshing_Factor (3) = 9, ! Cell size relative to master grid
Nest_Beg_I_Index(3) =179, ! Relative to master grid
Nest_End_I_Index(3) = 1060, ! Relative to master grid
Nest_Beg_J_Index (3) = 43, ! Relative to master grid
Nest_End_J_Index (3) = 66, ! Relative to master grid
Number_of_Layers (3) =16,

!-—— Model options —---

Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep

Advection_Solver = 'PPM', ! (PPM, BOTT)



Chemistry_Solver
PiG_Submodel
Probing_Tool

(None, OSAT, PSAT, GOAT, APCA,

Chemistry
Dry_Deposition
Wet_Deposition
Staggered_Winds
Gridded_Emissions
Point_FEmissions
Ignore_Emission_Dates

—-—— Output specificatio

Root_Output_Name
Average_Output_3D
HDF_Format_Output
HDF_File_Root

Number_of_Output_Specie
Output_Species_Names (1)
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names
Output_Species_Names

(2
(
(
(
(
(
(
(
(
(
(
(
(
(
(

!——— Input files ———

Chemistry_Parameters
Photolyis_Rates
16jul/rates.camx.020709.
Initial_Conditions
Boundary_Conditions
'SINPUT/icbc/ic_bc_tc_
Top_Concentrations
'SINPUT/icbc/ic_bc_tc_
Albedo_Haze_Ozone
16jul/ahoz.camx.02jul-
Point_Sources
Master_Grid_Restart
Nested_Grid_Restart
PiG_Restart

fo

fo

16

Landuse_Grid (1)

'SINP

Landuse_Grid(2) = 'SINP
Landuse_Grid(3) = 'SINP
ZP_Grid (1) = 'SMET
ZP_Grid(2) = 'SMET
ZP_Grid(3) = 'SMET
Wind_Grid(1l) 'SMET

'cMC', !
'GREASD', !
'None' !
DDM, PA RTRAC)

.true.
.true.
.true.
.true.
.true.
.true.
.true.

(CMC, IEH, LSODE)
(None, GREASD, IRON)

ns —---

'SOUTPUT/camx.02${TODAY[S$i]}.SRUN',
.false.,

.false.,
'SOUTPUT/camx.02${TODAY[$1]}.SRUN.hdf"
16,
INO ]
'NO2 !
103 1
'so2 !
'"PAR '
'"TOL !
'ETH !
'OLE '
'"PAN !
'"ISOoP!',
XYL ',
'"FORM',
'"ALD2',
'"HNO3',
'NXOY',
ICO ]

s =

4

' /model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
'SINPUT/camx_inputs/rates/no_snow/02jul-
361204 .basel’,

'$IC’,

r_camx/episode_4/bc.st136k.2002${JULIAN[Si]}.CAMX',

r_camx/episode_4/topc.st136k.2002183.CAMx",
'"$SINPUT/camx_inputs/ahoz.orig/no_snow/02jul-
Jjul.361204.basel.mdnr',
'"SPTSRCE/ptsrce.pig.2002${TODAY[$1]}.basedT.bin"',
'"SOUTPUT/camx.02${TODAY [$iml]}.SRUN.inst.2"',
'SOUTPUT/camx.02${TODAY [$iml]}.SRUN.finst.2",
'SOUTPUT/camx.02${TODAY [$iml] }.SRUN.pig"',
stlouis.36km.bin',
stlouis.1l2km.bin',
stlouis.O4km.bin',
36.base2’',
12.base2’,

4 .base2’',
36.base2’,

UT/camx_inputs/landuse/lu.
UT/camx_inputs/landuse/lu.
UT/camx_inputs/landuse/lu.
/pres.camx.02${TODAY[S$i]}.natl.
/pres.camx.02${TODAY[S$i]}.CRAP.
/pres.camx.02${TODAY[$1i]}.SLOP.

}
}
/wind.camx.02${TODAY[$1]}.natl.



Wind_Grid (2) = 'SMET/wind.camx.02${TODAY[S$i]}.CRAP.12.base2’',
Wind_Grid (3) = '"SMET/wind.camx.02${TODAY[S$1]}.SLOP.4.base2’',
Temp_Grid (1) = 'SMET/temp.camx.02${TODAY[$1]}.natl.36.base2’,
Temp_Grid(2) = 'SMET/temp.camx.02${TODAY[$i]}.CRAP.12.base2",
Temp_Grid(3) = 'SMET/temp.camx.02${TODAY[S$i]}.SLOP.4.base2"',
Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[S$i]}.natl.36.base2",
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[$1]}.CRAP.12.base2’,
Vapor_Grid(3) = '"SMET/wvap.camx.02${TODAY[$1]}.SLOP.4.base2’,
Cloud_Grid (1) = 'SMET/clra.camx.02${TODAY[S$i]}.natl.36.base2.v4.30"',
Cloud_Grid(2) = '"SMET/clra.camx.02${TODAY[S$i]}.CRAP.12.base2.v4.30"',
Cloud_Grid(3) 'SMET/clra.camx.02${TODAY[$1]}.SLOP.4.base2.v4.30"',
Kv_Grid(1l) =

"SMET/vdif.camx.02${TODAY[$i]}.natl.36.base2.CMAQ.kvpatch',

Kv_Grid(2) =
'SMET/vdif.camx.02${TODAY[$i]}.CRAP.12.base2.CMAQ.kvpatch',

Kv_Grid (3) = 'SMET/vdif.camx.02${TODAY[S$1i]}.SLOP.4.base2.CMAQ.kvpatch',
Emiss_Grid (1) 'SEMIS/emiss_low.basedT.st136km.2002S{TODAY[S$i]}.CAMx',
Emiss_Grid(2)

'SEMIS/emiss_low.based4T.stll2km_photo.2002${TODAY[S$1i]}.CAMx',

Emiss_Grid (3) = 'SEMIS/emiss_low.based4T.st1l4km.2002${TODAY[$1i]}.CAMx",

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root = 'CAMx4.test.020614",
SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,
SA_Nested_Sfc_Output = .true.,
SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_ Timing Releases = 0,
PSAT_Treat_SULFATE_Class = .false.,
PSAT_Treat NITRATE_Class = .true.,
PSAT_Treat_SOA_Class = .false.,
PSAT_Treat PRIMARY_Class = .false.,
PSAT_Treat_MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,
SA_Receptor_Definitions = 'osat.rcp.def.dat',

SA_Source_Area_Map (1) 'osat.src.area.map.gl',
SA_Source_Area_Map (2) 'osat.src.area.map.g2',
SA_Source_Area_Map (3) = 'osat.src.area.map.g3"',

SA_Master_Restart
SA_Nested_Restart

'CAMx4.test.020614.0sat.inst.2"',
'CAMx4 .test.020614.0sat.finst.2"',

SA_Points_Group (1) = 'ptsrc.utils.020614.bin’',
SA_Points_Group (3) 'ptsrc.other.020614.bin"',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.12km.bin"',
'emiss.utils_low.020614.04km.bin"',
'emiss.mv.020614.36km.bin',
= 'emiss.mv.020614.12km.bin",

SA_Emiss_Group_Grid(1l,1)
SA_Emiss_Group_Grid(1l,2)
SA_Emiss_Group_Grid(1l, 3)
(2,1)
(2,2)

4

SA_Emiss_Group_Grid
SA_Emiss_Group_Grid

4

4



SA_Emiss_Group_Grid(2, 3) 'emiss.mv.020614.04km.bin’',

SA_Emiss_Group_Grid(3,1) = 'emiss.other.020614.36km.bin"',
SA_Emiss_Group_Grid(3,2) = 'emiss.other.020614.12km.bin"',
SA_Emiss_Group_Grid(3,3) = 'emiss.other.020614.04km.bin"',

&DDM_Control

DDM_File_Root 'CAMx4.test.020614",

DDM_Master_Sfc_Output = .true.,
DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,

IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,

BC_species_Groups (1) '03"',

Number_of_EM Species_Groups = 2,
Emis_Species_Groups (1) '03",
Emis_Species_Groups (2) 'NOX"',
DDM_Receptor_Definitions = 'ddm.rcp.def.dat',
DDM_Source_Area_Map (1) = 'ddm.src.area.map.gl',
DDM_Source_Area_Map (2) = 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) = 'ddm.src.area.map.g3"',

DDM_Initial_Conditions
DDM_Boundary_Conditions
DDM_Top_Concentrations

'ic.generic.bin’',
'bc.generic.bin',
'tc.generic',

DDM_Master_Restart = 'CAMx4.test.020614.ddm.inst.2"',
DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',
DDM_Points_Group (1) 'ptsrc.utils.020614.bin"',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin’',
DDM_Emiss_Group_Grid(l,1) = 'emiss.utils_low.020614.36km.bin"',
DDM_Emiss_Group_Grid(l,2) = 'emiss.utils_low.020614.36km.bin"',
DDM_Emiss_Group_Grid(l,3) = 'emiss.utils_low.020614.36km.bin’',
DDM_Emiss_Group_Grid(2,1) = 'emiss.mv.020614.36km.bin’',
DDM_Emiss_Group_Grid(2,2) = 'emiss.mv.020614.36km.bin"',
DDM_Emiss_Group_Grid(2,3) = 'emiss.mv.020614.36km.bin"',
DDM_Emiss_Group_Grid(3,1) = 'emiss.other.020614.36km.bin"',
DDM_Emiss_Group_Grid(3,2) = 'emiss.other.020614.36km.bin"',
DDM_Emiss_Group_Grid(3,3) = 'emiss.other.020614.36km.bin"',

&

! ____________________________________________________________________________
&RT_Control

RT_File_Root = 'CAMx4.test.020614",
RT_Initial_Conditions = ' 1,

RT_Boundary_Conditions = ' "',

4
'CAMx4 .test.020614.rtrac.inst.2"',

RT_Top_Concentrations
RT_Master_Restart



RT_Nested_Restart = 'CAMx4.test.020614.rtrac.finst.2',

Sampling_Grid = .true.,
Number_of_Sampling_ Grids = 1,

SG_Beg_I_Index (1) =17, ! Relative to master grid
SG_End_I_TIndex (1) = 18,

SG_Beg_J_Index (1) = 21,

SG_End_J_Index (1) = 22,

SG_Mesh_Factor (1) = 36., ! Cell size relative to master
grid

RT_Chemistry_Parameters = 'CAMx4.chemparam.rtrac_test',

RT_Receptor_Definitions 'receptor.rtrac.test’',
RT_Point_Sources 'pt.rtrac.test’',
RT_Emiss_Grid (1) = 'emiss.rtrac.36km’',
RT_Emiss_Grid(2) 'emiss.rtrac.1l2km',
RT_Emiss_Grid(3) 'emiss.rtrac.04km',

&PA_Control

PA_File_Root = 'CAMx4.test.020614",

Number_of_ PA_Domains = 2,

Within CAMx_Grid(l) = 1, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index (1) = 8,

PA_End_I_Index (1) =12,

PA_Beg_J_Index (1) = 9,

PA_End_J_Index (1) =13,

PA_Beg_K_TIndex (1) =1,

PA_End_K_Index (1) = 5,

Within_CAMx_Grid(2) = 3, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index(2) = 107,

PA_End_I_Index(2) = 110,

PA_Beg_J_Index (2) =78,

PA_End_J_Index (2) = 82,

PA_Beg_K_ Index(2) =1,

PA_End_K_Index (2) =17,

&

ieof

cp CAMx.in CAMx.1in.02${TODAY[S$1]}

uname —-a > & camx.02${TODAY[S$i]}.SRUN.stdout

#/bin/time SEXEC | & tee camx_v4.11s.02S${TODAY[S$i]}.SRUN.stdout
./CAMx.StLouis60.pg_linuxomp | & tee camx_v4.30.02${TODAY[S$i]}.SRUN.stdout
rm —-f CAMx.in

#date >>& CAMx_v4.11s.SRUN.S{TODAY[S$i]}.stdout

#

end



July 2009 Attainment Demonstration
camx.jul02.Dm2090TB.CMAQ.kvpatch.mech4noPM_correct

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN = "St_LouisDO090TB_correct”

set EXEC = "CAMx.StLouis60.pg_linuxomp"

set INPUT = "/raid2a/ENVIRON"

set MET = "/raidlb/MM5CAMx/Jul2-16b2"

set EMIS = "/raid2a/based4_emiss_jul_camx_09_OTB_ptne—ar_correction/merged"
set PTSRCE = "/raid2a/base4_emiss_jul_camx_09_OTB_ptne—-ar_correction/merged"
set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT =
"/model/CAMx/outputs/v4.30/3ul02dm2/20090TB_correct/mech4noPM/CMAQ.kvpatch"

mkdir -p ./S$RUN
cp SEXEC ./SRUN
cd ./SRUN

#mkdir -p $OUTPUT

#set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)
set TODAY = (0702 0703 0704 0705 0706 0707 0708 0709 0710 0711 0712 0713 0714
0715 0716)

set YYYYMMDD =(20020702 20020703 20020704 20020705 20020706 20020707 20020708
20020709 20020710 20020711 20020712 20020713 20020714 20020715 20020716)

#set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

#set JULIAN = (210 211 212 213 214 215 216 217)

set JULIAN = (183 184 185 186 187 188 189 190 191 192 193 194 195 196 197)

foreach 1 (1 2 345 6 7 8 9 10 11 12 13 14 15)
#foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = STODAY[S$1i] — (SMO * 100)
if ($1i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic_bc_tc_for_camx/episode_4/ic.st136k.2002183.CAMx"

@ iml = $1i

set START = "2002,07,02,0000"
else

set RESTART = "true"

set IC = " "

@ iml = ($i - 1)

set START = "2002, $MO, $SDAY, 0000"
endif

cat << ieof > CAMx.in
&CAMx_Control



Run_Message = 'CAMx v4.30 July 2002 DO90OTB Area & Point Corrections
CMAQ.kvp Mech4.noPM.PiG',

! ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_ Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY, MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes

Met_Input_Frequency = 60., ! minutes

Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters —-—-

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0, south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0, south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0,south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0, south<0)
LAMBERT_True_Latitude2 = 45., ! deg (west<0,south<0)

!-—— Parameters for the master (first) grid —--—-

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_ Cell_XSize = 36., ! km or deg

Master_Cell_YSize = 36., ! km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows =112,

Number_of_Layers (1) = 16,

!-——— Parameters for the second grid —---

Nest_Meshing_Factor (2) = 3,
59,

! Cell size relative to master grid

I
125, ! Relative to master grid

I

I

Relative to master grid

)
Nest_End_I_Index(2) =
Nest_Beg_J_Index (2) = 22, Relative to master grid
Nest_End_J_Index (2) = 87, Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid --—-

Nest_Meshing_Factor (3) = 9, ! Cell size relative to master grid
Nest_Beg_I_Index(3) =179, ! Relative to master grid
Nest_End_I_Index(3) = 1060, ! Relative to master grid
Nest_Beg_J_Index (3) = 43, ! Relative to master grid
Nest_End_J_Index (3) = 66, ! Relative to master grid
Number_of_Layers (3) =16,

!-—— Model options —---

Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep

Advection_Solver = 'PPM', ! (PPM, BOTT)



Chemistry_Solver = 'CcMC', ! (CMC, IEH, LSODE)
PiG_Submodel = 'GREASD', ! (None, GREASD, IRON)
Probing_Tool = 'None'

(None, OSAT, PSAT, GOAT, APCA, DDM, PA RTRAC)

Chemistry = .true.,

Dry_Deposition = .true.,

Wet_Deposition = .true.,

Staggered_Winds = .true.,

Gridded_Emissions = .true.,

Point_FEmissions = .true.,

Ignore_Emission_Dates = .true.,

!——— Output specifications —--—-—

Root_Output_Name = 'SOUTPUT/camx.02S{TODAY[$i]}.SRUN',
Average_Output_3D = .false.,

HDF_Format_Output = .false.,

HDF_File_Root = 'SOUTPUT/camx.02${TODAY[$i]}.SRUN.hdf",
Number_of_Output_Species = 16,

Output_Species_Names (1) = 'NO ',
Output_Species_Names (2) = 'NO2 ',
Output_Species_Names(3) = '03 ',
Output_Species_Names(4) = 'S02 ',
Output_Species_Names (5) = 'PAR ',
Output_Species_Names (6) = 'TOL ',
Output_Species_Names (7) = 'ETH ',
Output_Species_Names(8) = 'OLE ',
Output_Species_Names(9) = 'PAN ',
Output_Species_Names (10) = 'ISOP',
Output_Species_Names (11) = 'XYL ',
Output_Species_Names (12) = 'FORM',
Output_Species_Names (13) = 'ALD2',
Output_Species_Names (14) = 'HNO3',
Output_Species_Names (15) = 'NXOY',
Output_Species_Names (l6) = 'CO ',
!——— Input files ———
Chemistry_Parameters = '/model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
Photolyis_Rates = 'SINPUT/camx_inputs/rates/no_snow/02jul-
16jul/rates.camx.020709.361204.basel’,
Initial_Conditions = 's1cCc’',

Boundary_Conditions =
'SINPUT/icbc/ic_bc_tc_for_camx/episode_4/bc.st136k.2002${JULIAN[Si]}.CAMX"',
Top_Concentrations =
'"SINPUT/icbc/ic_bc_tc_for_camx/episode_4/topc.st136k.2002183.CAMX"',
Albedo_Haze_Ozone = 'SINPUT/camx_ inputs/ahoz.orig/no_snow/OZjulf
16jul/ahoz.camx.02jul— l6jul 361204 .basel.mdnr'

Point_Sources

'SPTSRCE/ptsrce.pig. 2002${TODAY[$1]}.base4T_09_OTB.NOxSIP.bin',
Master_Grid_Restart = 'SOUTPUT/camx.02${TODAY[$iml]}.SRUN.inst.2"',
Nested_Grid_Restart = 'SOUTPUT/camx.02${TODAY[S$iml]}.SRUN.finst.2",
PiG_Restart 'SOUTPUT/camx.02${TODAY [$iml] }.SRUN.pig"',

Landuse_Grid (1) '"S$INPUT/camx_inputs/landuse/lu.stlouis.36km.bin",
Landuse_Grid(2) = 'SINPUT/camx_inputs/landuse/lu.stlouis.1l2km.bin',
Landuse_Grid (3) '"S$INPUT/camx_inputs/landuse/lu.stlouis.O4km.bin',
ZP_Grid (1) '"SMET/pres.camx.02${TODAY[$i]}.natl.36.base2’,
ZP_Grid (2 'SMET/pres.camx.02${TODAY[$i]}.CRAP.12.base2",
ZP_Grid(3) = 'SMET/pres.camx.02${TODAY[S$i]}.SLOP.4.base2"',

}.
}.



Wind_Grid (1) = 'SMET/wind.camx.02${TODAY[S$i]}.natl.36.base2’,
Wind_Grid (2) = '"SMET/wind.camx.02${TODAY[$i]}.CRAP.12.base2’,
Wind_Grid (3) = '"SMET/wind.camx.02${TODAY[S$1]}.SLOP.4.base2’',
Temp_Grid (1) = 'SMET/temp.camx.02${TODAY[S$i]}.natl.36.base2’,
Temp_Grid(2) = 'SMET/temp.camx.02${TODAY[$i]}.CRAP.12.base2",
Temp_Grid(3) = 'SMET/temp.camx.02${TODAY[S$i]}.SLOP.4.base2"',
Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[$1]}.natl.36.base2’,
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[$1]}.CRAP.12.base2",
Vapor_Grid(3) = 'SMET/wvap.camx.02${TODAY[S$i]}.SLOP.4.base2"',
Cloud_Grid (1) = '"SMET/clra.camx.02${TODAY[S$i]}.natl.36.base2.v4.30"',
Cloud_Grid(2) = 'SMET/clra.camx.02${TODAY[S$i]}.CRAP.12.base2.v4.30"',
Cloud_Grid(3) = 'SMET/clra.camx.02${TODAY[S$i]}.SLOP.4.base2.v4.30",
Kv_Grid (1) =

'SMET/vdif.camx.02${TODAY[$i]}.natl.36.base2.CMAQ.kvpatch',

Kv_Grid(2) =
'SMET/vdif.camx.02${TODAY[$i]}.CRAP.12.base2.CMAQ.kvpatch',

Kv_Grid(3) = '"SMET/vdif.camx.02${TODAY[$1]}.SLOP.4.base2.CMAQ.kvpatch',
Emiss_Grid (1) =
'SEMIS/emiss_low.basedT_09_OTB.stl1l36km.C.2002${TODAY[S$1i]}.CAMx',
Emiss_Grid(2) =
'SEMIS/emiss_low.based4T_09_OTB.stll2km.C_photo.2002${TODAY[S$i]}.CAMX"',
Emiss_Grid (3) =
"SEMIS/emiss_low.basedT_09_OTB.stl1l4km.C.2002${TODAY[S$i]}.CAMx'

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root = 'CAMx4.test.020614",
SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,
SA_Nested_Sfc_Output = .true.,
SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_Timing_Releases = 0,

PSAT_Treat_ SULFATE_Class = .false.,
PSAT_Treat_NITRATE_Class = .true.,
PSAT_Treat_SOA_Class = .false.,
PSAT_Treat_ PRIMARY_Class = .false.,
PSAT_Treat_ MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,
SA_Receptor_Definitions = 'osat.rcp.def.dat',
SA_Source_Area_Map (1) = 'osat.src.area.map.gl',

SA_Source_Area_Map (2)
SA_Source_Area_Map (3)

'osat.src.area.map.g2',
'osat.src.area.map.g3"',

SA_Master_Restart
SA_Nested_Restart

'CAMx4 .test.020614.0sat.inst.2"',
'CAMx4 .test.020614.0sat.finst.2"',

SA_Points_Group (1) = 'ptsrc.utils.020614.bin"',
SA_Points_Group (3) 'ptsrc.other.020614.bin'"

SA_Emiss_Group_Grid(1l,1) 'emiss.utils_low.020614.36km.bin",
SA_Emiss_Group_Grid(l,2) = 'emiss.utils_low.020614.12km.bin"',



'emiss.utils_low.020614.04km.bin"',
= 'emiss.mv.020614.36km.bin",

= 'emiss.mv.020614.12km.bin",
'emiss.mv.020614.04km.bin',

= 'emiss.other.020614.36km.bin"',

= 'emiss.other.020614.12km.bin"',

= 'emiss.other.020614.04km.bin’,

SA_Emiss_Group_Grid(1l,3
SA_Emiss_Group_Grid (2,1
SA_Emiss_Group_Grid (2,2
SA_Emiss_Group_Grid (2,3
(3,1
(3,2
(3,3

4

14

SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid

4

4

—_— — — — — — —

14

&DDM_Control

DDM_File_Root = 'CAMx4.test.020614",
DDM_Master_Sfc_Output = .true.,
DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,
IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,
BC_species_Groups (1) = '03"',
Number_of_EM_Species_Groups = 2,
Emis_Species_Groups (1) = '03"',
Emis_Species_Groups (2) = 'NOX',

DDM_Receptor_Definitions 'ddm.rcp.def.dat’',

DDM_Source_Area_Map (1) = 'ddm.src.area.map.gl',
DDM_Source_Area_Map (2) 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) 'ddm.src.area.map.g3"',

DDM_Initial_Conditions = 'ic.generic.bin',
DDM_Boundary_Conditions 'bc.generic.bin’,
DDM_Top_Concentrations 'tc.generic',

DDM_Master_Restart = 'CAMx4.test.020614.ddm.inst.2"',
DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',

DDM_Points_Group (1) 'ptsrc.utils.020614.bin’',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin"',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.36km.bin",
= 'emiss.utils_low.020614.36km.bin’',
'emiss.mv.020614.36km.bin',
'emiss.mv.020614.36km.bin",

= 'emiss.mv.020614.36km.bin",

= 'emiss.other.020614.36km.bin"',

= 'emiss.other.020614.36km.bin"',

= 'emiss.other.020614.36km.bin"',

DDM_Emiss_Group_Grid(l,1
DDM_Emiss_Group_Grid(1l, 2
DDM_Emiss_Group_Grid(1l,3
DDM_Emiss_Group_Grid (2,1
DDM_Emiss_Group_Grid(2, 2
(2,3
(3,1
(3,2
(3,3

14

4

4

DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid

14

4

4

—_— — — — — — — — —

14

&RT_Control

RT_File_Root 'CAMx4 .test.020614",

RT_Initial_ Conditions = '1T,



RT_Boundary_Conditions = ' "',

RT_Top_Concentrations L
RT_Master_Restart = 'CAMx4.test.020614.rtrac.inst.2"',
RT_Nested_Restart = 'CAMx4.test.020614.rtrac.finst.2',

Sampling_Grid .true.,

Number_of_Sampling Grids = 1,

SG_Beg_I_TIndex (1) 17, ! Relative to master grid
SG_End_I_Index (1) 18,
SG_Beg_J_Index (1) 21,
SG_End_J_Index (1) = 22,
SG_Mesh_Factor (1) = 36., ! Cell size relative to master
grid

(
(
(
(

RT_Chemistry_Parameters = 'CAMx4.chemparam.rtrac_test',
RT_Receptor_Definitions = 'receptor.rtrac.test',
RT_Point_Sources = 'pt.rtrac.test',
RT_Emiss_Grid(1l) = 'emiss.rtrac.36km',
RT_Emiss_Grid(2) = 'emiss.rtrac.1l2km',
RT_Emiss_Grid(3) = 'emiss.rtrac.04km',

&PA_Control

PA_File_Root = 'CAMx4.test.020614",

Number_of_ PA_Domains 2,

Within_CAMx_Grid(1l) =1, ! Specify which CAMx grid that this PA domain is
in
PA_Beg_I_TIndex
PA_End_I_Index
PA_Beg_J_Index
PA_End_J_Index
PA_Beg_K_Index
PA_End_K_Index

) = 8,
) =12,
) =9,
) = 13,
)

) =5,

Within_CAMx_Grid(2)
in
PA_Beg_I_Index
PA_End_I_Index
PA_Beg_J_Index
PA_End_J_Index
PA_Beg_K_Index
PA_End_K_Index

3, ! Specify which CAMx grid that this PA domain is

= 107,
110,

—_— — — — — —
I
el
N
~ S

&
ieof

cp CAMx.in CAMx.in.02${TODAY[S$i]}

uname -a > & camx.02${TODAY[S$i]}.SRUN.stdout

#/bin/time SEXEC | & tee camx_v4.11s.02${TODAY[S$i]}.SRUN.stdout
./CAMx.StLouis60.pg_linuxomp | & tee camx_v4.30.02${TODAY[S$i]}.SRUN.stdout
rm —f CAMx.in

#date >>§ CAMx_v4.11s.SRUN.S{TODAY[S$1]}.stdout

#

end



July-August 2002 Final Basecase (Model Performance)
camx.julaug02.baseD.CMA Q.kvpatch.mech4noPM

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN "St_LouisBaseD"

set EXEC = "CAMx.StLouis60.pg_linuxomp"

set INPUT = "/raid2a/ENVIRON/camx_inputs"

set MET = "/raidla/MM5CAMx/JulyAug"

set EMIS = "/raid2a/based4_emiss_julaug_camx/merged"

set PTSRCE = "/raid2a/based4_emiss_julaug_camx/merged"

set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT = "/model/CAMx/outputs/v4.30/julaug02d/mech4noPM/CMAQ.kvpatch"

mkdir -p ./$RUN
cp SEXEC ./SRUN
cd ./SRUN

#mkdir -p $OUTPUT

set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)

#set TODAY = (0610 0611 0612 0613 0614 0615 0616 0617 0618 0619 0620 0621
0622 0623 0624)

#set YYYYMMDD =(20020610 20020611 20020612 20020613 20020614 20020615
20020616 20020617 20020618 20020619 20020620 20020621 20020622 20020623
20020624)

set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

set JULIAN = (210 211 212 213 214 215 216 217)

#set JULIAN = (161 162 163 164 165 166 167 168 169 170 171 172 173 174 175)

#foreach 1 (1 2 3 4 5 6 7 8 9 10 11 12 13 14 15)
foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = S$STODAY[$i] - ($SMO * 100)
if ($1i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic.st1l36k.2002210.CAMx"

@ iml = $1i

set START = "2002,07,29,0000"
else

set RESTART = "true"

set IC = " "

@ iml = ($1 - 1)

set START = "2002, $SMO, SDAY,0000"
endif

cat << ieof > CAMx.in
&CAMx_Control



Run_Message = 'CAMx v4.30 July/Aug 2002 D Mech4noPM(PiG) CMAQ.kvpatch',

! ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_ Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY, MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes
Met_Input_Frequency = 60., ! minutes
Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters --—-—

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0,south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0, south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0, south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0,south<0)
LAMBERT_True_Latitude?2 = 45., ! deg (west<0,south<0)

!-—— Parameters for the master (first) grid —--—-

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_ Cell_XSize = 36., ! km or deg

Master_Cell_YSize = 36., ! km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows =112,

Number_of_Layers (1) =16,

!-—— Parameters for the second grid ---

Nest_Meshing_Factor (2) = 3, Cell size relative to master grid

|
Nest_Beg_I_Index(2) = 59, ! Relative to master grid
Nest_End_I_Index(2) = 125, ! Relative to master grid
Nest_Beg_J_Index(2) = 22, ! Relative to master grid
Nest_End_J_Index (2) = 87, ! Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid --—-

Nest_Meshing_Factor (3) = 9,
Nest_Beg_I_Index (3 79,

! Cell size relative to master grid

1
106, ! Relative to master grid

I

I

Relative to master grid

)
Nest_End_I_Index(3) =
Nest_Beg_J_Index(3) = 43, Relative to master grid
Nest_End_J_Index (3) = 66, Relative to master grid
Number_of_Layers (3) =16,
!-—— Model options —--—-
Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep
Advection_Solver = 'PPM', ! (PPM, BOTT)

Chemistry_Solver = 'CcMC', ! (CMC, IEH, LSODE)



PiG_Submodel = 'GREASD', ! (None, GREASD, IRON)

Probing_Tool = 'None'

(None, OSAT, PSAT, GOAT, APCA, DDM, PA RTRAC)
Chemistry = .true.,
Dry_Deposition = .true.,
Wet_Deposition = .true.,
Staggered_Winds = .true.,
Gridded_Emissions = .true.,
Point_FEmissions = .true.,
Ignore_Emission_Dates = .true.,

!——— Output specifications —--—-—

Root_Output_Name 'SOUTPUT/camx.02${TODAY[$1]}.SRUN',

Average_Output_3D = .false.,

HDF_Format_Output = .false.,

HDF_File_Root = 'SOUTPUT/camx.02${TODAY[S$i]}.SRUN.hdf",
Number_of_Output_Species = 16,

Output_Species_Names (1) = 'NO ',

Output_Species_Names (2) = 'NO2 ',

Output_Species_Names (3) = '03 ',

Output_Species_Names(4) = 'S02 ',

Output_Species_Names(5) = 'PAR ',

Output_Species_Names (6) = 'TOL ',

Output_Species_Names (7) = 'ETH ',

Output_Species_Names (8) = 'OLE ',

Output_Species_Names(9) = 'PAN ',

Output_Species_Names (10) = 'ISOP',

Output_Species_Names (11) = 'XYL ',

Output_Species_Names (12) = 'FORM',

Output_Species_Names (13) = 'ALD2',

Output_Species_Names (14) = 'HNO3',

Output_Species_Names (15) = 'NXOY',

Output_Species_Names (16) 'NTR ',

!——— Input files —--—-

Chemistry_Parameters = '/model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
Photolyis_Rates = 'SINPUT/rates/no_snow/28jul—
06aug/rates.camx.020803.361204.basel’,

Initial Conditions = 'sIc’',

Boundary_Conditions = '$INPUT/icbc/bc.stl136k.2002${JULIAN[S1i]}.CAMx",
Top_Concentrations = 'SINPUT/icbc/topc.st136k.2002210.CAMX",
Albedo_Haze_Ozone = 'SINPUT/ahoz.orig/no_snow/28jul—

06aug/ahoz.camx.28jul-06aug.361204.basel.mdnr’',

Point_Sources 'SPTSRCE/ptsrce.pig.2002${TODAY[S$i]}.based.bin’,
Master_ Grid_Restart 'SOUTPUT/camx.02${TODAY [$iml] }.SRUN.inst.2",
Nested_Grid_Restart = 'SOUTPUT/camx.02${TODAY[S$iml]}.SRUN.finst.2",
PiG_Restart = 'SOUTPUT/camx.02${TODAY[$iml]}.SRUN.pig"',

Landuse_Grid (1) 'SINPUT/landuse/lu.stlouis.36km.bin',
Landuse_Grid(2) = 'SINPUT/landuse/lu.stlouis.l2km.bin',
Landuse_Grid (3) '"$INPUT/landuse/lu.stlouis.O4km.bin"',
ZP_Grid (1) 'SMET/pres.camx.02${TODAY[$i]}.natl.36.basel’,
ZP_Grid(2) 'SMET/pres.camx.02${TODAY[$i]}.CRAP.12.basel’,

[$11}
ZP_Grid(3) = 'SMET/pres.camx.02${TODAY[S$i]}.SLOP.4.basel",
Wind_Grid (1) = '"SMET/wind.camx.02${TODAY[$i]}.natl.36.basel’,
Wind_Grid (2) = '"SMET/wind.camx.02${TODAY[$i]}.CRAP.12.basel’,
Wind_Grid (3) = 'SMET/wind.camx.02${TODAY[S$1i]}.SLOP.4.basel’,
Temp_Grid (1) 'SMET/temp.camx.02${TODAY[$i]}.natl.36.basel’,



Temp_Grid(2) = 'SMET/temp.camx.02${TODAY[$i]}.CRAP.12.basel’,
Temp_Grid(3) = '"SMET/temp.camx.02${TODAY[$1]}.SLOP.4.basel’,
Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[$1]}.natl.36.basel’,
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[$i]}.CRAP.12.basel’,
Vapor_Grid(3) = 'SMET/wvap.camx.02${TODAY[S$i]}.SLOP.4.basel",
Cloud_Grid (1) = 'SMET/clra.camx.02${TODAY[S$i]}.natl.36.basel.v4.30"',
Cloud_Grid(2) = 'SMET/clra.camx.02${TODAY[$i]}.CRAP.12.basel.v4.30",
Cloud_Grid(3) = 'SMET/clra.camx.02${TODAY[$i]}.SLOP.4.basel.v4.30",
Kv_Grid (1) =

'SMET/vdif.camx.02${TODAY[$i]}.natl.36.basel.CMAQ.kvpatch',

Kv_Grid(2) =
"SMET/vdif.camx.02${TODAY[$1]}.CRAP.12.basel.CMAQ.kvpatch',

Kv_Grid(3) = '"SMET/vdif.camx.02${TODAY[$1]}.SLOP.4.basel.CMAQ.kvpatch',
Emiss_Grid (1) 'SEMIS/emiss_low.based4.st136km.2002S{TODAY[S$i]}.CAMX',
Emiss_Grid(2)

'SEMIS/emiss_low.based.stl12km_photo.2002${TODAY[S$1i]}.CAMx"',

Emiss_Grid (3) = 'SEMIS/emiss_low.based.st14km.2002${TODAY[S$i]}.CAMx',

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root

'CAMx4 .test.020614"',

SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,
SA_Nested_Sfc_Output = .true.,
SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_Timing_Releases = 0,
PSAT_Treat_ SULFATE_Class = .false.,
PSAT_Treat NITRATE_Class = .true.,

PSAT_Treat_SOA_Class = .false.,

PSAT_Treat_PRIMARY_ Class = .false.,
PSAT_Treat_ MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,
SA_Receptor_Definitions = 'osat.rcp.def.dat',

SA_Source_Area_Map (1) 'osat.src.area.map.gl',
SA_Source_Area_Map (2) 'osat.src.area.map.g2',
SA_Source_Area_Map (3) = 'osat.src.area.map.g3',

SA_Master_Restart 'CAMx4 .test.020614.0sat.inst.2"',
SA_Nested_Restart = 'CAMx4.test.020614.0sat.finst.2',

SA_Points_Group (1) = 'ptsrc.utils.020614.bin"',
SA_Points_Group (3) 'ptsrc.other.020614.bin"',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.12km.bin"',
'emiss.utils_low.020614.04km.bin"',
= 'emiss.mv.020614.36km.bin",
'emiss.mv.020614.12km.bin",
'emiss.mv.020614.04km.bin",
'emiss.other.020614.36km.bin",

= 'emiss.other.020614.12km.bin"',

SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
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SA_Emiss_Group_Grid(3,3) = 'emiss.other.020614.04km.bin"',

&DDM_Control

DDM_File_Root 'CAMx4 .test.020614",

DDM_Master_Sfc_Output = .true.,
DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,
IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,
BC_species_Groups (1) = '03"',
Number_of_EM_Species_Groups = 2,
Emis_Species_Groups (1) = '03"',
Emis_Species_Groups (2) = 'NOX',
DDM_Receptor_Definitions = 'ddm.rcp.def.dat',

DDM_Source_Area_Map (1) 'ddm.src.area.map.gl',
DDM_Source_Area_Map (2) 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) = 'ddm.src.area.map.g3"',

DDM_Initial_Conditions 'ic.generic.bin',
DDM_Boundary_Conditions 'bc.generic.bin’,
DDM_Top_Concentrations = 'tc.generic',
DDM_Master_Restart 'CAMx4 .test.020614.ddm.inst.2"',

DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',
DDM_Points_Group (1) = 'ptsrc.utils.020614.bin"',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin"',

DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid (2,

(1,1 'emiss.utils_low.020614.36km.bin",

(1,2

(1,3

(2,1
DDM_Emiss_Group_Grid (2,2

(2,3

(3,1

(3,2

(3,3

)

) 'emiss.utils_low.020614.36km.bin"',
) 'emiss.utils_low.020614.36km.bin"',
) 'emiss.mv.020614.36km.bin',

) = 'emiss.mv.020614.36km.bin’',
)

)

)

)

14

14

4

DDM_Emiss_Group_Grid (2,
DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid

DDM_Emiss_Group_Grid

'emiss.mv.020614.36km.bin",

'emiss.other.020614.36km.bin'",
'emiss.other.020614.36km.bin",
= 'emiss.other.020614.36km.bin"',

14

4

4

&RT_Control

RT_File_Root = 'CAMx4.test.020614",
RT_Initial_ Conditions = '1T,
RT_Boundary_Conditions = ' "',

RT_Top_Concentrations =
RT_Master_Restart
RT_Nested_Restart

4
'CAMx4 .test.020614.rtrac.inst.2",
'CAMx4 .test.020614.rtrac.finst.2"',

Sampling_Grid = .true.,



Number_of_Sampling_ Grids =
SG_Beg_I_TIndex (1) =17, ! Relative to master grid

|
=
~

SG_End_I_TIndex (1) = 18,

SG_Beg_J_Index (1) = 21,

SG_End_J_Index (1) = 22,

SG_Mesh_Factor (1) = 36., ! Cell size relative to master
grid

RT_Chemistry_Parameters = 'CAMx4.chemparam.rtrac_test',
RT_Receptor_Definitions = 'receptor.rtrac.test',

RT_Point_Sources = 'pt.rtrac.test',

RT_Emiss_Grid(1l) = 'emiss.rtrac.36km',

RT_Emiss_Grid(2) = 'emiss.rtrac.1l2km',

RT_Emiss_Grid(3) = 'emiss.rtrac.04km',

&

! ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
&PA_Control

PA_File_Root = 'CAMx4.test.020614",

Number_of PA_Domains = 2,

Within_CAMx_Grid(l) = 1, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index (1) = 8,

PA_End_I_Index (1) =12,

PA_Beg_J_Index (1) = 9,

PA_End_J_Index (1) = 13,

PA_Beg_K_Index (1) =1,

PA_End_K_Index (1) = 5,

Within CAMx_Grid(2) = 3, ! Specify which CAMx grid that this PA domain is
in

PA_Beg_I_Index(2) = 107,

PA_End_I_Index(2) = 110,

PA_Beg_J_Index(2) =78,

PA_End_J_Index (2) = 82,

PA_Beg_K_Index(2) =1,

PA_End_K_Index (2) =17,

&
ieof

cp CAMx.in CAMx.in.02${TODAY[S$i]}

uname —-a > & camx.02${TODAY[S$i]}.SRUN.stdout

#/bin/time SEXEC | & tee camx_v4.11s.02${TODAY[S$i]}.SRUN.stdout
./CAMx.StLouis60.pg_linuxomp | & tee camx_v4.30.02${TODAY[S$i]}.S$RUN.stdout
rm —f CAMx.in

#date >>& CAMx_v4.11s.SRUN.S{TODAY[S$1]}.stdout

#

end



July-August 2002 Final Basecase (Typical)
camx.julaug02.baseD.CMA Q.kvpatch.mech4noPM.typical

#!/bin/csh

#

# Script to Run CAMx
#

# Environment variables and executable for parallel processing on
# a dual-processor Linux workstation with Portland Group compiler
#

setenv NCPUS 2

setenv MPSTKZ 128M

limit stacksize unlimited

#

set RUN = "St_LouisBaseD"

set EXEC = "CAMx.StLouis60.pg_linuxomp"
set INPUT = "/raid2a/ENVIRON/camx_inputs"

set MET = "/raidla/MM5CAMx/JulyAug"

set EMIS = "/raid2a/based_typ_emiss_julaug_camx/merged"
set PTSRCE = "/raid2a/based_typ_emiss_julaug_camx/merged"
set OTHER = "../../../inputs"

#set OUTPUT = "/raid2b/CAMx/outputs/redhat5/jun02b/0OB70"

set OUTPUT =
"/model/CAMx/outputs/v4.30/julaug02d/mech4noPM/CMAQ.kvpatch/typical”

mkdir -p ./$SRUN
cp SEXEC ./SRUN
cd ./SRUN

#mkdir -p $OUTPUT

set TODAY = (0729 0730 0731 0801 0802 0803 0804 0805)

#set TODAY = (0610 0611 0612 0613 0614 0615 0616 0617 0618 0619 0620 0621
0622 0623 0624)

#set YYYYMMDD =(20020610 20020611 20020612 20020613 20020614 20020615
20020616 20020617 20020618 20020619 20020620 20020621 20020622 20020623
20020624)

set YYYYMMDD = (20020729 20020730 20020731 20020801 20020802 20020803
20020804 20020805)

set JULIAN = (210 211 212 213 214 215 216 217)

#set JULIAN = (161 162 163 164 165 166 167 168 169 170 171 172 173 174 175)

#foreach 1 (1 2 3 4 5 6 7 8 9 10 11 12 13 14 15)
foreach 1 (1 2 3 4 5 6 7 8)
@ MO = STODAY[S$i] / 100

@ DAY = S$STODAY[$i] - ($SMO * 100)
if ($1i == 1) then

set RESTART = "false"

set IC = "SINPUT/icbc/ic.stl1l36k.2002210.CAMx"

@ iml = $i

set START = "2002,07,29,0000"
else

set RESTART = "true"

set IC = " "

@ iml = ($i - 1)

set START = "2002, $SMO, SDAY, 0000"
endif

cat << ieof > CAMx.in



&CAMx_Control
Run_Message = 'CAMx v4.30 July/Aug 2002 D Mech4noPM(PiG) CMAQ.kvpatch',

! ——— Model clock control —--—-

Time_Zone = 0, ! (0=UTC, 5=EST, 6=CST, 7=MST, 8=PST)
Restart = .SRESTART.,

Start_Date_Hour = $START, ! (YYYY,MM, DD, HHmm)

End_Date_ Hour = 2002, 0SMO, $DAY, 2400, ! (YYYY, MM, DD, HHmm)
Maximum_Timestep = 15., ! minutes

Met_Input_Frequency = 60., ! minutes

Ems_Input_Frequency = 60., ! minutes

Output_Frequency = 60., ! minutes

!-—— Map projection parameters —-—-

Map_Projection = 'LAMBERT', ! (LAMBERT,POLAR,UTM, LATLON)
UTM_Zone = 0,

POLAR_Longitude_Pole = -100., ! deg (west<0,south<0)
POLAR_Latitude_Pole = 40., ! deg (west<0, south<0)
LAMBERT_Center_Longitude = -97., ! deg (west<0, south<0)
LAMBERT_Center_Latitude = 40., ! deg (west<0,south<0)
LAMBERT_True_Latitudel = 33., ! deg (west<0,south<0)
LAMBERT_True_Latitude2 = 45., ! deg (west<0,south<0)

!-—— Parameters for the master (first) grid —--—-

Number_of_Grids = 3,

Master_Origin_XCoord = -2736., ! km or deg, SW corner of cell(1l,1)
Master_Origin_YCoord = -2088., ! km or deg, SW corner of cell (1,1)
Master_Cell_XSize = 36., ! km or deg

Master_Cell_YSize = 36., !' km or deg

Master_Grid_Columns = 148,

Master_Grid_Rows =112,

Number_of_Layers (1) = 16,

!-——— Parameters for the second grid —---

Nest_Meshing_Factor (2) = 3,
59,

! Cell size relative to master grid

I
125, ! Relative to master grid

I

I

Relative to master grid

)
Nest_End_I_Index(2) =
Nest_Beg_J_Index (2) = 22, Relative to master grid
Nest_End_J_Index (2) = 87, Relative to master grid
Number_of_Layers(2) =16,

!-—— Parameters for the third grid ---

Nest_Meshing_Factor (3) = 9, Cell size relative to master grid

|
Nest_Beg_I_Index(3) =179, ! Relative to master grid
Nest_End_I_Index(3) = 1060, ! Relative to master grid
Nest_Beg_J_Index(3) = 43, ! Relative to master grid
Nest_End_J_Index (3) = 66, ! Relative to master grid
Number_of_Layers (3) =16,

!-—— Model options —---

Diagnostic_Error_Check = .false., ! True = will stop after 1lst timestep

Advection_Solver = 'PPM', ! (PPM, BOTT)



Chemistry_Solver
PiG_Submodel
Probing_Tool

'cMC', ! (CMC, IEH, LSODE)
'GREASD', ! (None, GREASD, IRON)
= 'None' !

(None, OSAT, PSAT, GOAT, APCA, DDM, PA RTRAC)

Chemistry
Dry_Deposition
Wet_Deposition
Staggered_Winds
Gridded_Emissions
Point_FEmissions
Ignore_Emission_Dates

Root_Output_Name
Average_Output_3D
HDF_Format_Output
HDF_File_Root
Number_of_Output_Specie
Output_Species_Names (1)
Output_Species_Names (2
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (
Output_Species_Names (

!——— Input files ———

Chemistry_Parameters
Photolyis_Rates =
06aug/rates.camx.020803.
Initial_Conditions =
Boundary_Conditions

Top_Concentrations =
Albedo_Haze_Ozone =
06aug/ahoz.camx.283jul-06
Point_Sources
Master_Grid_Restart =
Nested_Grid_Restart =
PiG_Restart

Landuse_Grid (1) = 'SINP
Landuse_Grid(2) = 'SINP
Landuse_Grid(3) = 'SINP
ZP_Grid (1) = 'SMET
ZP_Grid(2) = 'SMET
ZP_Grid (3) = 'SMET
Wind_Grid (1) = 'SMET
Wind_Grid(2) = 'SMET
Wind_Grid(3) = 'SMET

= .true.,
= .true.,
= .true.,
.true.,
.true.,
.true.,
= .true.,

—-—— Output specifications —---

= 'SOUTPUT/camx.02${TODAY[$i]}.$RUN',

= .false.,
= .false.,
= 'SOUTPUT/camx.02${TODAY[$i]}.SRUN.hdf",
s = 16,
= 'NO |,
= 'NO2 ',
— 103 v,
= 's502 ',
= '"PAR ',
= 'TOL ',
= 'ETH ',
= 'OLE ',
= 'PAN ',
) = '"ISOP',
) = '"XYL ',
) = '"FORM',
y = 'ALD2',
) = 'HNO3',
) = 'NXOY',
) 'NTR ',

' /model/CAMx/v4.30/inputs/CAMx4.3.chemparam.4_NONE',
'S$INPUT/rates/no_snow/28jul—

361204 .basel’,

's$I1C’,
'"SINPUT/icbc/bc.st136k.2002${JULIAN[Si]}.CAMX",
'"SINPUT/icbc/topc.st136k.2002210.CAMx",
'S$INPUT/ahoz.orig/no_snow/28jul—

aug.361204 .basel .mdnr’,
'SPTSRCE/ptsrce.pig.2002${TODAY[$i]}.basedT.bin"',
'SOUTPUT/camx.02${TODAY [$iml]}.SRUN.inst.2",
'SOUTPUT/camx.02${TODAY [$iml]}.SRUN.finst.2",
'SOUTPUT/camx.02${TODAY [$iml] }.$RUN.pig"',

UT/landuse/lu.stlouis.36km.bin’',
UT/landuse/lu.stlouis.l2km.bin’',
UT/landuse/lu.stlouis.04km.bin"',

/pres.camx.02${TODAY[$1i]}.natl.36.basel",
/pres.camx.02${TODAY[$1]}.CRAP.12.basel",
/pres.camx.02${TODAY[S$i]}.SLOP.4.basel",
/wind.camx.02${TODAY[S$Si]}.natl.36.basel’,
/wind.camx.02${TODAY[$i]}.CRAP.12.basel",
/wind.camx.02${TODAY[S$1i]}.SLOP.4.basel’,



Temp_Grid (1) = 'SMET/temp.camx.02${TODAY[S$i]}.natl.36.basel’,
Temp_Grid(2) = 'SMET/temp.camx.02${TODAY[$1]}.CRAP.12.basel’,
Temp_Grid(3) = '"SMET/temp.camx.02${TODAY[$1]}.SLOP.4.basel’,
Vapor_Grid (1) = 'SMET/wvap.camx.02${TODAY[S$i]}.natl.36.basel’,
Vapor_Grid(2) = 'SMET/wvap.camx.02${TODAY[$i]}.CRAP.12.basel’,
Vapor_Grid(3) = 'SMET/wvap.camx.02${TODAY[S$i]}.SLOP.4.basel",
Cloud_Grid (1) = 'SMET/clra.camx.02${TODAY[S$i]}.natl.36.basel.v4.30",
Cloud_Grid(2) = 'SMET/clra.camx.02${TODAY[S$i]}.CRAP.12.basel.v4.30",
Cloud_Grid(3) = 'SMET/clra.camx.02${TODAY[$i]}.SLOP.4.basel.v4.30",
Kv_Grid (1) =

'SMET/vdif.camx.02${TODAY[$i]}.natl.36.basel.CMAQ.kvpatch',

Kv_Grid(2) =
"SMET/vdif.camx.02${TODAY[$1]}.CRAP.12.basel.CMAQ.kvpatch',

Kv_Grid (3) = 'SMET/vdif.camx.02${TODAY[S$i]}.SLOP.4.basel.CMAQ.kvpatch',
Emiss_Grid (1) = 'SEMIS/emiss_low.based4T.st136km.2002${TODAY[$1]}.CAMx",
Emiss_Grid(2) =
'"SEMIS/emiss_low.basedT.stll12km_photo.2002${TODAY[$1i]}.CAMx"',

Emiss_Grid (3) = '"SEMIS/emiss_low.base4T.st14km.2002${TODAY[$1i]}.CAMx",

&
! No probing tools for this run. Everything below this line is not used.

&SA_Control

SA_File_Root = 'CAMx4.test.020614",
SA_Summary_Output = .true.,
SA_Master_Sfc_Output = .true.,

SA_Nested_Sfc_Output = .true.,

SA_Stratify_Boundary = .true.,
SA_Number_of_Source_Regions = 10,
SA_Number_of_Source_Groups = 3,
Use_Leftover_Group = .false.,
Number_of_Timing_Releases = 0,
PSAT_Treat_ SULFATE_Class = .false.,
PSAT_Treat_ NITRATE_Class = .true.,
PSAT_Treat_SOA_Class = .false.,
PSAT_Treat_ PRIMARY_Class = .false.,
PSAT_Treat_ MERCURY_Class = .false.,
PSAT_Treat_OZONE_Class = .false.,
SA_Receptor_Definitions = 'osat.rcp.def.dat',

SA_Source_Area_Map (1) 'osat.src.area.map.gl',
SA_Source_Area_Map (2) = 'osat.src.area.map.g2',
SA_Source_Area_Map (3) 'osat.src.area.map.g3"',

SA_Master_ Restart = 'CAMx4.test.020614.0sat.inst.2"',
SA_Nested_Restart = 'CAMx4.test.020614.0sat.finst.2"',

SA_Points_Group (1) 'ptsrc.utils.020614.bin"',
SA_Points_Group (3) = 'ptsrc.other.020614.bin’',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.12km.bin"',
= 'emiss.utils_low.020614.04km.bin',
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.12km.bin",
'emiss.mv.020614.04km.bin’',

= 'emiss.other.020614.36km.bin"',

SA_Emiss_Group_Grid(1l,1)
SA_Emiss_Group_Grid(1l,2)
SA_Emiss_Group_Grid(1l, 3)
SA_Emiss_Group_Grid(2,1)
(2,2)
(2,3)
(3,1)

4

4
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SA_Emiss_Group_Grid
SA_Emiss_Group_Grid
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SA_Emiss_Group_Grid(3,2) = 'emiss.other.020614.12km.bin"',
SA_Emiss_Group_Grid (3, 3) 'emiss.other.020614.04km.bin",

&DDM_Control

DDM_File_Root = 'CAMx4.test.020614",
DDM_Master_Sfc_Output = .true.,
DDM_Nested_Sfc_Output = .true.,
DDM_Stratify_Boundary = .true.,
DDM_Number_of_Source_Regions = 10,
DDM_Number_of_Source_Groups = 3,
Number_of_IC_Species_Groups = 1,
IC_Species_Groups (1) = '03"',
Number_of_BC_Species_Groups = 1,
BC_species_Groups (1) = '03"',
Number_of_EM_Species_Groups = 2,
Emis_Species_Groups (1) = '03"',
Emis_Species_Groups (2) = 'NOX',

DDM_Receptor_Definitions 'ddm.rcp.def.dat’',

DDM_Source_Area_Map (1) 'ddm.src.area.map.gl’',
DDM_Source_Area_Map (2) = 'ddm.src.area.map.g2',
DDM_Source_Area_Map (3) 'ddm.src.area.map.g3"',

DDM_Initial_Conditions 'ic.generic.bin’',
DDM_Boundary_Conditions = 'bc.generic.bin',
DDM_Top_Concentrations 'tc.generic',
DDM_Master_Restart 'CAMx4 .test.020614.ddm.inst.2"',

DDM_Nested_Restart = 'CAMx4.test.020614.ddm.finst.2"',
DDM_Points_Group (1) = 'ptsrc.utils.020614.bin"',
DDM_Points_Group (3) = 'ptsrc.other.020614.bin"',

'emiss.utils_low.020614.36km.bin"',
'emiss.utils_low.020614.36km.bin",
'emiss.utils_low.020614.36km.bin",
= 'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin",
'emiss.mv.020614.36km.bin",
'emiss.other.020614.36km.bin",

= 'emiss.other.020614.36km.bin"',

= 'emiss.other.020614.36km.bin"',

DDM_Emiss_Group_Grid(1l,1
DDM_Emiss_Group_Grid(1l, 2
DDM_Emiss_Group_Grid(1l,3
DDM_Emiss_Group_Grid (2,1
DDM_Emiss_Group_Grid(2, 2
(2,3
(3,1
(3,2
(3,3
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DDM_Emiss_Group_Grid
DDM_Emiss_Group_Grid
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&RT_Control

RT_File_Root = 'CAMx4.test.020614",
RT_Initial_ Conditions = '1T,
RT_Boundary_Conditions = ' "',

RT_Top_Concentrations ’
RT_Master_Restart 'CAMx4 .test.020614.rtrac.inst.2"',
RT_Nested_Restart = 'CAMx4.test.020614.rtrac.finst.2',





